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hp = 100
mp = 10
exp = 20
level =1
hp = 40
mp = 50
exp = 100
level = 2
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hp = 35
mp = 10
exp = 20

level =1
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The mage uses a magic to heal
HP of the hero.

mage.use heal (hero)

def use heal(self, target):
self.mp -= 10
target.hp += 10
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map () reduce ()

HERA BN

lambda x : x*x




# Given the list L, make a list of all strings

# containing the substring S.

sublist = filter(lambda s, substring=S:
string.find(s, substring)

L)
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# Given the list L, make a list of all strings
# containing the substring S. LTEWnWehs------
sublist = filter(lambda s, substring=S:

string.find(s, substring) != -1,

L)

H Al I ClcFEEAEY

sublist = [ s for s in L if string.find(s, S) != -1 ]
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pine = 2 X = 3
apple = 3 y = 2
hp = 100 100
mp = 10 10
exp = 20 20

level =1 1



LABaEEE D B Y

707 LN ELWT ED

AN OE B’
A2 TURYEERA o] BE 14 =TT 5

BEADFE N



2IVEA & (3 (18E)
EERT

ABATTAY Z

DBi%R1E

AiLi7]

BFlcaffZic

IRREEAE




Y/ or—3yV

type Vector = list[float]

def scale(scalar: float, vector: Vector) -> Vector:
return [scalar * num for num 1n vector]
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functools

Siaptiilss

from functools 1import partial
basetwo = partial(int, base=2)
basetwo. doc = 'Convert base 2 string to an int.'
basetwo(“10010"') # int(’10010’', base=2)

https://docs.python.org/ja/3/library/functools.html



functools(2)
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@cache
def factorial(n):
return n * factorial(n-1) 1f n else 1

\ 4

def factorial(n):
return n * factorial(n-1) 1f n else 1

cachedfactorial = cache(factorial)



HEEBEHKELRO
The Zen of Python

Simple is better than complex.

There should be one-- and
poretferably only one --obvious
way to do It.

Readabllity counts.
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